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Calculus 2.
First Exam

Date: Sunday 18 /11 /1432 H.
Time: from 20:15 to 21:45.
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QL.

sech(0) =
(A) (B) ©) (D) (E)

T 1 0 undefined e
Q2.

1 —sech?x =
(A) (B) ©) (D)

1 0 — tanh?x tanh?x
Q3.

If y=—tanh™'vx2+1 , then Z—z =y =
(A) (B) ©) (D)

1 1 1 1

xVx2+1 xVx2+1 1—x2 x2+1

Q4.

If F isan antiderivative of f on an interval I, then G(x) = F(x) + Inx is
also an antiderivative of f.

(A) TRUE (B) FALSE
Q5.
lim,_ . tanhx =
X
2L
y=1
__I_ _I____I_y_: tflnhx
‘2_:____1__2_:x
s ¥y=-1
(A) (B) (€) (D) (E)
—00 00 0 -1 1
s 3 o Jpanllagle cund g oy 55 68 Jlpaall H) S5 58 6 48 Jpul
Q6.
lim,_ tanhx =
(A) (B) (C) (D) (B)
—o0 00 0 —1 1
Q7.
If £'(x) = 8¢* + == and f(0) = 10, then f(x) =
(A) (B) (€) (D)

8e* 4+ 5sin"lx —2

8e* +5sin"lx +2

8e*+5cos 1x —2

8e* +5cos 1x +2

D




Q8.
The sigma notation of 23 +33+43+ .. +n3 is

(A) (B) (®) (D)
o33+ 3)3 Y33+ 3)3 n3 (i +3)3 n3 (i + 3)3
Qo.
it (i-3)=
(A) (B) (C) (D) (E)
30 31 32 33 34
Q10.

A lower estimate of the area under the curve of f(x) = x? +4x + 4 and the
x-axis from x = —2 to x = 1 using three rectangles is

10 —

(A) (B) (©) (D)
3 5 14 11

Q11.

The integral expression of lim,_ . Y=;(3x7 + x; sinx;)Ax over the interval
[0,7] is

2

@) ) ©) ©)
Jo (& + xsinx) dx Jg(B3x? + x sinx) dx Je(x® + x cosx) dx JZ(x® + 2x cosx) dx
Q12.
If [’ f(x)dx =5, then [(=3f(x))dx =
(A) (B) (€) (D)
5 15 -5 —15




Q13.

If [7f()dx =9 and [} f(x)dx =3, then [’3f(x)dx =

(A) (B) (€) (D) (E)
18 6 9 -3 3
s 2 o Jpaalladle cuad o g 513 8, JIgadl IS5 58 14 a8 J) gl
014,
If fosf(x)dx =9 and fsgf(x)dx = 3, then fos 3f(x)dx =
(A) (B) (©€) (D) (E)
18 6 9 —3 3
Q15.
If g(u) = f:x:xz dx , then g'(u) =
(A) ) (B) (D)
u +u? u3_3 0z
Q16.
J[=d
(A) (B) (€) (D) (E)
37 38 40 41 43
= 38 40 4 43
017,
i oNE
’f\/E x+cotx X =
(A) \ (B) . (©) . (D) ) (E)
= n s v ’
Q1.
1} 14% dx =
(A) (B) (C) (D) (E)
g In2 In3 In 4 1+1In5
2
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010,
Ji o dx=
(A) (B) (C) (D) (E)
s In2 In3 In 4 1+1In5
2




Q20.
[(cot?x + 1)dx =

(A) (B) (€) (D)
cotx +C —cotx +c¢ tanx + C —tanx + C
Q21.
1] (3x2 — %) dx =
@ ® © ©
%—gex+C x* —ze*+C x*—z2e*+C %—4ex+C
Q22.
If h is an even function and f_llh(x)dx = 16, then f;@dx =
(A) (B) (€) (D)
5 3 4 2
Q23.
m x’+sinx
f—ﬂx6+x4+\/§ dx =
A ©) ©) ®
0 2 4 5
Q24.
f02|2 — 2x|dx =
(A) (B) (©) (D) (E)
6 4 3 2 1
s 3 o Jpanllagle cund o g 524 o8, JIsall ) S5 g8 25 a8 J) gl
Q25.
f02|2 — 2x|dx =
(A) (B) (®) (D) (E)
6 4 3 2 1
Q26.
[ 4x cos(x?)dx =
(A) (B) (€) (D)
sin(x?) + C —sin(x?) + C —2sin(x?) + C 2sin(x?) + C
Q27.
e* 5dx
Jo oz =
(A) (B) (©€) (D)

8 6 10 4
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Q28.

fe4 S5dx

e x/Inx _
(A) (B) (©) (D)

8 6 10 4

Q29.

[79°+29) . (6x 4+ 6) - In7 dx =
A (B) (©) (D) (E)

7(x*+2x) 4 ¢ 3.7(x*+2x) 4 ¢ 7(x%+2x+1) 7(x%+2x+1) 21(x*+2x) 4 ¢
(x?+2x+1)In7 m

win o Glo Jpanllagle Cund () cang 529 a8y Jlsudl 51 S5 58 30 ab ) J) )

Q30.
[705°+20 . (6x + 6) - In7 dx =
A ® © (D) G
7(x +2x) +C 3. 7(x +2x) +C 7(x +2x+1) 7(x2+2x+1) 21(x2+2x) +C

(x2+42x+1)In7

x2+2x+1




